Antidifferentiation and Rectilinear Motion

Pfet/lws!g.,. Now ...
Ghien s (€)= Queen - inihied emd-
V ('(‘\:: -0
a (€)= &=
V= e @ (#)= &t +0
a(4\= ; “\: 21

al$)= -9.3



?OT'{ML( mpws wm $’llrmgu' “M. ,L‘}S a(cd 1S
e by al$)= bt +4. The Wnidual 005, 15 Quwits
n?U‘ iy 210 ang midtel el is — (.

f\\nl -H-G pas. ‘Fuvtc.‘,-.

t___ o a(4+\= Ut +4
s- 9 v 6= Dt + 4t +C
V= —G ~b=2¢C
alt\= Lt 44 vit)= 2t 4 -0
s(O=¢7+2 -(t +D
1=

\;:m: L4286t +§




Ball hiown uen‘lalq vowavd it A% Lt £com
a cutf 421K+ 4! 'Flnl He max £ E€ma
e Ul when bull hits ?rouv\&

L-o a(-()--%l
<= 422 Vi€\=-32¢ +C
48 =C

V= 4« |
alt)=-32 U/G\u%a\ud@

S (#) = -\ + 488 +D
dsz D

st =€ s det +432)
OMdL So on.. .




